pr [GeV/(]

20<y <25

25 <y <30

30<y<3.5

0-1
1-2
2—-3
3—4
4-5
5—-6
6—-7
7—8
8§—-9
9-10
10 —-11
11 —-12
12 - 13
13-14
14 —-15
15 —-16
16 — 17
17 —-18
18 —-19
19 — 20
20-21
21 —22
22 -23
23 —-24
24 - 25
25— 26
26 — 27
27— 28
28 — 29
29 — 30

0.086 £ 0.004 £ 0.001
0.083 + 0.003 £ 0.001
0.086 £+ 0.003 £ 0.001
0.098 £ 0.003 £ 0.001
0.099 £+ 0.003 £ 0.001
0.107 £ 0.003 £ 0.001
0.126 £ 0.004 £ 0.001
0.138 +0.004 £ 0.001
0.155 £ 0.005 £ 0.001
0.162 £ 0.006 £ 0.001
0.164 + 0.007 £ 0.001
0.176 £ 0.008 = 0.003
0.211 £ 0.010 = 0.002
0.236 + 0.013 £ 0.001
0.245 £ 0.015 £ 0.003
0.258 £ 0.017 = 0.002
0.251 £ 0.019 £ 0.003
0.265 £ 0.022 £ 0.002
0.283 £ 0.024 + 0.002
0.290 £ 0.029 £ 0.001

0.089 £ 0.003 = 0.001
0.090 £+ 0.002 £ 0.001
0.091 £ 0.002 £ 0.001
0.098 £ 0.002 + 0.001
0.107 £ 0.002 £ 0.001
0.115 £ 0.002 £ 0.001
0.125 £ 0.002 = 0.001
0.142 4+ 0.003 £ 0.001
0.154 £ 0.003 £ 0.001
0.160 £ 0.004 = 0.001
0.180 £ 0.005 £ 0.002
0.193 £ 0.005 £ 0.001
0.221 £ 0.006 = 0.001
0.228 + 0.007 £ 0.001
0.248 £ 0.009 £ 0.003
0.236 £ 0.010 £ 0.002
0.263 £ 0.012 £ 0.002
0.274 £ 0.014 £ 0.001
0.277 £ 0.017 £ 0.002
0.292 £ 0.019 £ 0.001

0.083 £ 0.003 = 0.001
0.088 + 0.002 £ 0.001
0.087 £ 0.002 £ 0.001
0.098 £ 0.002 = 0.001
0.107 £ 0.002 £ 0.001
0.117 £ 0.002 £ 0.001
0.132 £ 0.002 = 0.001
0.144 + 0.003 £ 0.001
0.156 £ 0.003 + 0.001
0.170 £ 0.004 = 0.001
0.186 £+ 0.005 £ 0.001
0.198 £ 0.005 £ 0.003
0.216 £ 0.007 = 0.001
0.227 4+ 0.008 £ 0.003
0.236 £ 0.010 £ 0.001
0.248 £ 0.011 £ 0.002
0.272 £ 0.014 £ 0.001
0.283 £ 0.017 £ 0.001
0.278 £ 0.018 £ 0.001
0.257 £ 0.020 £ 0.003

0.310 £ 0.025 £ 0.002

0.312 £ 0.017 £ 0.004

0.273 £ 0.018 £ 0.005

0.308 £ 0.032 £ 0.002

0.334 £ 0.023 £ 0.001

0.348 £ 0.028 £ 0.002

0.275 £ 0.035 £ 0.001

0.353 £ 0.029 £ 0.002

0.374 £+ 0.040 £ 0.002

0.430 £+ 0.050 £ 0.005

0.325 £ 0.040 £ 0.001

0.310 £ 0.040 £ 0.004

0.329 £ 0.040 £ 0.005

0.3



